Chapter 6 practice quiz – ANSWERS
WS 6.0-3 Chapter 6 Quiz

Part A: Modified True/False

1. False; A mixture forms when two or more substances

are put together, but are not chemically combined.

2. True

Part B: Diagrams
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Part C: Multiple Choice

5. D; 6. B; 7. A; 8. A; 9. D; 10. B; 11. B; 12. C

Part D: Short Answer

13a. The atomic mass of an element is the average mass

number for all of the atoms of an element. Copper

atoms with more neutrons than protons are more

abundant than atoms with an equal number of

neutrons and protons. As a result, copper’s atomic

mass is larger than 58 u, which would be an equal

number of protons and neutrons.

14b. 34 to 35
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WS 7.0-3 Chapter 7 Quiz

Part A: Multiple Choice

1. D; 2. A; 3. A; 4. D; 5. C; 6. D

Part B: Chemical Formulas and Naming

7. A. ionic with polyatomic ions, potassium nitrate

B. binary ionic, calcium bromide

C. binary ionic with multivalent elements,

copper(II) chloride

D. molecular, trisilicon tetranitride

E. ionic with multivalent elements and polyatomic

ions; lead(IV) chromate

8. A. molecular, Cl2O7

B. binary ionic with multivalent elements, FeO

C. binary ionic, AlI3

D. ionic with multivalent elements and polyatomic

ions, Pb(NO3)2

E. molecular, CO2

Part C: Short Answer

9a. ionic compound

10b. Ionic compounds also have high melting points because

it takes high amounts of energy to separate the ions in

the crystal structure. Ionic compounds form crystal

structures due to the attraction of positive and negative

charges on the ions. They tend to be hard and brittle

because of the tight crystal arrangement. Therefore, I

would expect this compound to have a high melting

point, to have a crystalline structure, and to be hard and

brittle in its solid form.

11. The calcium ion has a charge of 2_. The chloride ion

has a charge of 1_. Ionic compounds must have an ion

charge balance of zero. Therefore, you need two ions of

chlorine to balance the ion of calcium in CaCl2,

whereas you only need one chlorine ion to balance

the 1+ charge of Na in NaCl.
